W79 =A)LT—%4 / Technical Datall
#E{ThILY / Recommended torque
M2.5 : 0.15N*m ~ 0.2N-m

M3.M4 : 0.3N*m ~ 0.6N*m

FIZFE / Product Number

AUPRE - - -

H~i%

H dimension

W%

W dimension

D~TFi&

D dimension

EX P /H)
Screw (P or H)

(AR o

Color Type

HEHINZ / Components

No. £ %5 / Part name #E / Pcs #'&E / Material - RmME / Color+Finish
' WMFEAFTIUNTSTvb » TIVEF A Fv X+ ADC12 DIVN— | TZvY - FBE (NEMELIE)
Handle corner block Diecast aluminium ADC12 Silver , Black*Painted (Unfinished inside)
2 a—+—Javyy 9 TIVEF A Fv X+ ADC12 DIWN— | T Ty - FE (NEMELIE)
Corner block Diecast aluminium ADC12 Silver , Black*Painted (Unfinished inside)
3 Btk ) T ILEIRH A A6063S-T5 DILR—-E i (NARRILIE)
Frame Extruded aluminium A6063S-T5 Silver=Painted (Unfinished inside)
4 IL—L 4 7 ILSHRH A A6063S-T5 DILN— B (NEPEANIE)
Panel support frame Extruded aluminium A6063S-T5 Silver=Painted (Unfinished inside)
5 ISRV ) 7 L2k A1100P DILNA— K (REERLE)
Panel Aluminium A1100P Silver+Painted (Conductive inside)
6 HR— 1 7 LZHR A1100P DIbNA—-Ex (EEERLE)
Top cover Aluminium A1100P Silver+Painted (Conductive inside)
7 ThH/N— ! 7 LZHR A1100P VILN—BE (REERLE)
Bottom cover Aluminium A1100P Silver=Painted (Conductive inside)
8 JLE 4 AT L TS5y
Rubber feet Rubber Black
9 EMCY—ILRH R yh 1 BE MM (UL94V-0) ARy HTL—
EMC shielding gasket Conductive fiber UL94V-0 Metallic gray
- HR{FHE X (M3 x 8) i % =TIV AYE
Screw (Flat head M3 - 8) Steel Nickel plated
» MAFER (AHM3 x 5) i &% =T ILAYE
Screw (Trapezoid head M3 - 5) Steel Nickel plated
1 BFER GETFRHLEFAM25 x 7) " &% = ILAYE
Screw (Captive pan head M2.5 - 7) Steel Nickel plated

EHE R4L#k / Original trapezoid head screw specification 2
[P] 75X / Phillips 7NA / Hexagon—socket
& 11%k / Color Type % /Title 2
A _ T . . @)
528 / Code | ¥ 9>bTS54 Uk / Handle corner block a—7+—7JAv% / Corner block B4R / Frame JNAJL / Panel ETHs\— / Cover TAKACHI| HAXUINFERIX S9DI IR RIVERBEMCY — LR r—R \ 5/
S s < JLsN— / Silver < )Ls— / Silver 2 JLIN— / Silver | 2 JLsN— / Silver < JLiN— / Silver TAKACHI ELECTRONICS ENCLOSURE CO., LTD. EMC Shielded 19” Enclosure with Detachable Panels RES
S B 55974 / Black 5597 / Black S JLIN— / Silver | SJLiN— / Silver | JL1A— / Silver #2/Approved | #&E0/Checked | #UK/Created | Z1%/Product number =/ eae
iR e A AUPRES88-43-16 -1 —
~N— /Page

{ERk B /Date

2024/04/10

1717

AREDEFEIIBRRSHINDFER T E(CRBELET . / Copyright (C) TAKACHI ELECTRONICS ENCLOSURE CO., LTD. All Rights Reserved.




5.88

E view

B-B(1:55)
T - A-A(1:55) C-C(1:55)
N ¢ C ( ) 0 [ ) C
1| o N o
: © —
. . o Vol
E% 2 hd >
146 423
383
D view A view C view B view
= 466 160£0.5 (r—RA4V 2 / External)
c
8
"'>j A
N 8 /?5 5 -
AN
2 I
T\
£ — D A
@
o
gy
o 482 187.5
F view
D(1:2)
e {
)
= ?O o Oo
Lo
N
©
~
.o (1] o.
=) =
43008 (r— R4 / External) B%/Title
8 S ERE5XI — 7 TAKACHI] HAHIDF BRI svpzoukanpEemcs—rr—2 | © ]
5 ulo) AL TAKACHI ELECTRONICS ENCLOSURE CO., LTD. EMC Shielded 19” Enclosure with Detachable Panels =
8 A B/ Approved #% X/ Checked #I[X]/Created FIE /Product number RIE/Scale
1:5.5
hiR E N AUPRES88-43-161-1J0 —
~N— /Page
YER B /Date 2024/04/10 2 /7
AREDEFEIIBRRSHINDFER T E(CRBELET . / Copyright (C) TAKACHI ELECTRONICS ENCLOSURE CO., LTD. All Rights Reserved.




C ¥ / C Frame

2@ / Front side

D {8l#% / D Frame

M / Front side

110

87

3.3

80.7

3.3

14

(o)
pS/

2-M3AH S

2-M3 Countersunk
¥ xtmEE [E4Hk / Same on the other side.

3)
)

ZE M| / Back side

E M / Back side

mnd/Title
TAKACHI| Bt ahFERTE IR O[]
TAKACHI ELECTRONICS ENCLOSURE CO., LTD. Frame
£/ Approved 12X/ Checked #I[X]/Created FIFE /Product number RE/Scale
1:2
iR £ fii A R—/Page
H88 — D160 1ERk B /Date 2024/04/01 3 /17

AREDEFEIIBRRSHINDFER T E(CRBBELET . / Copyright (C) TAKACHI ELECTRONICS ENCLOSURE CO., LTD. All Rights Reserved.




16

356

o
©
—_—
3-M2.5
380 55 105

22.5
7
")

3)
N
14
3

M3 5 3 3.3

2-M3FAHI7%
2-M3 Countersunk

T4 / Total 4 pieces

a4/ Title
BRRUIHFERTE JL—L O[]
TAKACHI ELECTRONICS ENCLOSURE CO., LTD. Panel support frame
23/ Approved t&X/Checked #[X/Created FIE /Product number RE/S-IC?;G
iR E 251 g o
W430 {ER B /Date 2022/11/16 4 /7
AREOEFEEIIHARITINFEMIEICIRELET . / Copyright (C) TAKACHI ELECTRONICS ENCLOSURE CO., LTD. All Rights Reserved.




A /NARJL / A Panel

379.5
e (9] T
Lo
~
Le o) .l
Bxh~Ti% / Max dim. 372 £ 0.5
2@ / Front side
B /\%JL / B Panel
e (6] T
Le ) al

M / Front side

3.5 2 356
e
o
_l.l
©
<
o (> o 5
© [To)
s . =
= REE—MMA ©
> Surface protective film side
_tli o (1] (H
1
R
s
4-M2.5FAZ LR —T
4-Metal sleeve for M2.5
ZE M| / Back side
[“ F: [ ¢
REES—MAY
Surface protective film side
(H (1] [
E M / Back side
4/ Title N\ —
TAKACHI| HHAZHINFEKIE ISR O L
TAKACHI ELECTRONICS ENCLOSURE CO., LTD. Frame
A B/ Approved 1&[X/Checked #[X/Created FIE /Product number RE/Scale
1:3.5
iR £ nF R—/Page
H88 — W430 1 B /Date 2023/12/20 5 /1

AREDEFEIIBRRSHINDFER T E(CRBELET . / Copyright (C) TAKACHI ELECTRONICS ENCLOSURE CO., LTD. All Rights Reserved.




149.4

4-R14.7

130

4194

400

M@ / Front side

H#tik / Max dim. 383 £ 0.5

ik / Max dim. 113 + 0.3

#

el

6-@4.5

REE—HMaI
Surface protective film side

Z T / Back side

mnd/Title
. A — .
TAKACHI| HHAZHINFEKIE HN— () G
TAKACHI ELECTRONICS ENCLOSURE CO., LTD. Top cover

A B/ Approved 1&[X/Checked #[X/Created FIE /Product number RE/Scale

1:4
iR £ nF R—/Page
W430 - D160 1ERk B /Date 2023/12/13 6 /7

AREDEFEIIBRRSHINDFER T E(CRBELET . / Copyright (C) TAKACHI ELECTRONICS ENCLOSURE CO., LTD. All Rights Reserved.




149.4

4194

4-R14.7 400 6-04.5 2

130

REE—MMAI
Surface protective film side

ik / Max dim. 113 + 0.3

N\
gl

/%
5%

H#tik / Max dim. 383 £ 0.5

M@ / Front side Z T / Back side

mnd/Title
HRRAANFERTE 5= O]
TAKACHI ELECTRONICS ENCLOSURE CO., LTD. Bottom cover
A B/ Approved 1&[X/Checked #[X/Created FIE /Product number RE/S:e‘;I.e
iR x nF R—/Page
W430 - D160 {ER B /Date 2023/12/13 1771
AREOEEEIIHARIHINFEMIECIRELET . / Copyright (C) TAKACHI ELECTRONICS ENCLOSURE CO., LTD. All Rights Reserved.






